Physics Department/T he University of Jordan

Second Exam/ZOApril/Z()ls (3:30 - 4:30)
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e=—16x10"1%C,m,=911X 10731 kg, 9 = 9.8 m/s

s) that has passed through-a
here t is in seconds. The 1n

2
Q1) The quantity of charge (in Coulomb surface area of 2.0 c-m
varies withtime as g = 4t3 + 11t +6 W stantaneous current (in A)

through the surface att = 1.0's is

a) 12 b) 23 )0 d) 17 )3
Q2) A light bulb is rated at 30 W when operated at 150 V. How much charge (in Coulombs)
passes throug'hkthis bulb in 1.0 min? -

b &) 60

a) 17 b) 15 c) 12 d) 30
ance R. What is the new

Q3) A conductor of radius r, length L and resistivity p has resist. .
resistance if it is stretched to 2 times its original ler\\gth keeping its volume constant:

a) 4R b) R /4 &R d) 2R ¢) R/2
/

P dza ‘
Q4) What is the rate at which thermal energy is generate:d 3

in the 30 Q resistor shown?

a) 13 W b)27 W c) 60
—
d)20W e) 30 W
50Q

Q5) In the figure shown, if1=0.50 A and R = 80,
determing € (INYVolR)me— 1" i

a) 12 b) 24 ¢) 30
d)15V €) 16.0
g st

Q6) In the figure, if7=3.0 A in the circuit segment shown, what is the potential difference

VB—VA (in yolt)?'
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a) +28 b) -52 c) -28

: i, 20V
d) +52 e) +2.0
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. H a
= 15 Q, what is the equivalent resistance

Q7) In the figure, if R
between points a and b

a) 16 b) 28

d;gL e) 6.0 W
‘ ¢d 50uF capacitor, 30 V battery and a 10 resistor. When
(in A)in the circuit is «~ P et

c) 24

\ -

8) An RC circuit consists of’ uncharg

the switch is closed the initial current

) 3.0
a) 30 b) 15 ¢) 6.0 d) 10.0 €)3.0
Q9) An clectron has a velocity of 6 X 106 m/s in the positive ¥ dirc?tion at a point where the
B,=3T,By= B, =0 What is the

magnetic field has the components, .
magnitude of the magnetic force acting on the electron (in N)?

a) 4.1 b)1.6 ¢ 3.6 )0 €) 29
Q10) A straight wire is bent into the shape shown. Determine the net magnetic force on the wire.
_ < 4L —
a) 2/BL into the page b) 2IBL out of the page - -
c) 4IBL out of the page  d) 4/BL into the page LI * I
€) Z€ro - : T
B

Q11) A circular loop (radius = 0.50 m) carries a current of 3.0 A and has unit normal vector of
(2i - j +2K)/3. What is the x component of the torque (in N.m) on this loop when it is placed in a

uniform magnetic field of (2i—6j) T ?

a) 4.7  b)94
—

Q12) A horizontal wire (mass =25 g, length = 40.cm) is suspended by two massless vertical
wires which conduct a current 7 = 4,0 A, as shown.in the figure. The horizontal wire is subjected
to a magnetic field of magnitude 60 mT into the paper. What is the value of the tensiom¢in N)in

¢)19 d) 3.1 e) 12N

each of the vertical wires?

2039  b)032 ¢)0.13 + @+
9008 €017 ®B —4— -
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